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[ntroduction to nxvm ot — Yy TTIN 7119

This chapter is devoted to two related m577 as presented in the passage below (nxvn7 1711), any 1I8VN oTsprayed on a garment necessitates the
laundering of that garment; and any vessel in which a I8V has been cooked must be cleansed at some point —and, if 011 253, must be broken. The
first five mowp are focused on the first issue — 113 0127 11720 4-8 are dedicated to the 2" - D25 nyawr 19wy,
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I '» mwn:if nkon o7is spilt on a garment, it must be washed
a  Even though: the text seems to be addressing eaten m17p (i.e. NN MRYVN), per YaR» WVITP DIPN3, it applies also to
NPNNA MRVN, per NRVNA NN,

i

ii

iii

iv

Challenge: if we read nronin nin, why not include yyn nxon?
1 Answer: nRt is exclusive — per 9™ — vnwn VR limits law to ponwi
Challenge: why not include all m>5R1 and exclude nynna?
1 Answer: nRoNN NN is inclusive
Question: why include nynna and exclude mwn nron?
1 Answerl: nnna is more similar to N21XM NRON: YR ,TIN YARR 17,99 POy ,Nnna
(a) Counter: qyn nronN is more similar — yyna and it is eaten
(b) Nonetheless: there are more points in common with mn»9 nron than with 91yn nxon
2 Answer2 (9or 27): m5IRn — limits to only one kind of %581 (2 not 91pn nron)
(a) Note: nnis there to ensure that we don’t read n1938n as “normal rhetoric” and infer a VIYM
3 Answer3 (727): v 7R — only referring to mxm
Challenge: Rn»12 which agrees that na 0w np»n only applies to mYary, but nr WK focuses specifically on nynnia
1 Meaning: the base of our na%n is NYM1a — NPYIYN MRVN are an extension
2 Ifso: mwn should read — not only nvn29, but also nynxn
3 Answer: we have such a version of the mwn
4 Then: 90 nron should also be included
(a) Answer: nry limits
(i) Ifso: then nnxn nron should also be exluded
(ii) Answer: nRONN NN NRT includes it
(iii) Reason for designation: WX ,TIM ,PIXR ,17p )99 ,119% ,NNN2
1. Challenge: qywn nron has nxrn (unlike nn¥'nn nron — which has "nrm”)
2. Answer: the long list of commonalities with n2¥'n nron trumps that consideration

II  par’v’s questions
a  Premise: o7 of a n»1¥'n nron (at least) brought in to Y3°n invalidates 127p

i

ii

Question: if e nrvn BT is brought in while in its neck (no p7m used) — does it invalidate?
1 Lemmal: is the neck akin to the mw 55 = %109
2 Lemma2: it is like the neck of an animal and it is only %02 if in a *93, not in its flesh
Proposed proof: if the 91yn nron was having death-spasms, went in to 2’n and came back out — w3
1 Implication: if he took it in — invalid
2 Challenge: re: 7"p1p, ruling that if it went to 017 and returned before dying, valid
(a) And: there, there is no na%n of being taken to 0117 as being &¥1 Y109
(b) Rather: both teach that if it went out (even on its own) 11y yin — 5108 (no solution to his question)

b Question: if myn o7 spilled on ground and he collected it in a N1 *93- valid or not?

i
ii
iii

Lemmal: n7n didn’t require a »53, but if he collected it in one - still valid

Lemmal: putting it in a N7 93 invalidates 2 %100

Answer (827): our ruling, which excludes 9wn nron o7 from v’

1 But:if mw *%1 invalidates, it was 100 07 when it got in airspace of (132) "o2->doesn’t require ©123 in any case
2 Block (»*17 /7772 82777 *7):could have put "9 right up to its neck (no *53 97R) = no solution to this question
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¢ Question (asked by »5of »37): if the 7 fell from one garment to another — does the 2" require v125?
i Lemmal: once it fell off the first garment (7109) — it is declassified as ©12’5 Pyonn o7
ii ~ Lemma2: no distinction
iii Answer: (“good question”) — it requires V123 in either case
1 Reason: if after being collected from the garment it is still nrrnY 9w, still valid
(a) But if:itis no longer w3, I (ark '7) accept »™'s position — once it had any w1210 nyw — requires 01173
d  Question (n”27asked of X701 7): if 7 spilled on a RNV garment, does it require ©V1273?
i Observation (»*17 7772 8277 77): from his question, he must hold contra "1 (re: 710 NYW Y Nn*n)
1 And: his question is whether that even applies if the 07 becomes %104 at point of contact with T or only if it
was invalidated beforehand
ii  Answer (8707 77): it is a dispute 1329/()0W 12) X", per N217's explanation as clarified by »ax:
1 xp732 8" - nron 'n that became &NV can nonentheless be used to be 1nvn
(a) Proof: we sprinkle on a N1 (to remove nn NXMY)
(b) 727's explanation: InW 12 MYHR ' was following his master (¥™), that passing a 53 over a Rnv place is
tantamount to having it rest there
(i) Per: n:» ma —if he was outside of a 1, with a y7w inside, and he put his hand into a window, tak-
ing a flask and passing it over the mouth of the 7110 — »™ renders the flask Xnv, Dnon are 1NVN
1. Reason: ™1 considers it to have come to rest (atop the 11n) while o'non dissent
(c) 7aK’s challenge: Y"1 agrees that nRrn atop a Rnv N or (arn) 2WIN/10WN is valid; 121 NN 0 1 or NYXIN jar
are Rnon from above (by passing over) as if touching
(i) Rather (»2n): all agree that these are not considered namns
1. y”1. considers N1 that they may come to rest (= ®nv —but 131277n0)
2. o’pom: no such concern
a. And:y™ agrees regarding nxtn that it is valid, since it’s already left his hand
b. And: 1127/8" disagree about applying prior nkmv (that happened to nxron »m) from current
i.  ~”2 we do apply - since we can sprinkle on a " (and nxvn ' become Xnv), we can
also sprinkle 1xnvVIY nXroLN M
ii. 37 don’t apply = cannot use 1RNVIV NRON M
iii. (> o7that became 8nv at point of contact either is considered on a par with o7 which
became &nv earlier and is not liable for v1273 [®"] or it is distinct and liable [1327])
(d) ~27all agree that we do not apply current nkmv to the earlier
(i) Their dispute: is whether n&rn requires a 1w and we can combine mxrn to make up Mw (8™)
1. Or: nrrn does not require a MWW (1137) = the first drop on the 0T is 1o before any became xnv
III ’a mwn: those mron whose ot does not necessitate v1273
a 7509 nxorr whether or not it was ever fit for nam (e.g. Xy ,8nV ,19) or not (e.g. PXIVL1YAPY ,AMPNY PIN,MINTY PIN LNVI)
i 7772 TR - only N7WI 07, not N0 BT
1 y77if it had a 7w12n NYw and then became invalidated — requires washing; if not — not requirement of V1273
2 p”1r whether or not it had 9w1n nyw — no requirement of v1223
(a) source (for ¥7): nmr and n&t — one excludes 110 NYW 1Y nn'n, the other for outright " oa
(b) »”%. reads nmR as excluding nn1In (from requirement of washing out »53)
(c) w7y follows his own reasoning — he doesn’t apply our rule to »’%p ©*w1p, certainly not to nmn (and no
text needed to support it)
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